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(1) WEE AB-AC, AB-AD &0 AC-AD % ZhZhskid k.
(2) 35 A, B, CAEH 3l Lo i H %, PHA AB, ACOFS & BEICAS & 5128 5. AL — uAB+vAC
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D% r THRE (7L, r<2).

() AR = (F,1.0)-(B,1.1) = 3t1-0=4
RB-Ab= (15 1,0)- (-,5.0)= -I3+3E+0 =0

AR = (F.1.1)- (-5 0)= ~[31/3+0=0

(2) PH = AH - AP
SPlE gnpce t (- §3&E520 T,
AP = ([-t)AD +tAC
PH = wAB +VAC — ((-1)AB — tAC =
P LAR < PH-AB =0 £V,
w A8+ (U-1) AB-AC —((-t)AE-AD = 4u+4(V-1)=0 ~Q

PALAC < PH-AC =0 L.
Mﬁ,z\hg +(U~'t) {A_('|2-v([-ﬂA"_c'-,q_ﬁ= 4u+5(u,t) =0 @

UAE + (V- AL — ((-T)AD
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